PopmMyrbl COKpalleHHOro
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1. NpeacrtaBbTEe B BUOE MHOro4rneHa:
O(a-5)P = a’-10a+25
O(a-1)(a+1) =a’1
0(2x +1)? = 4x?+4x+1
O(x+2)(2 -x) = 4-x7

O(y+4) 2+8y+1 6
[ (y* - 5)(y2 +5) = y1 25
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2. «CocTaBb CNOBO-

doopmyna

Ne
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(x+3)?

4x3-9

(x-4)(x+4)

16x2-40xy+25y?

(2x-3)(2x+3)

x2-16

(9-x)

9y2+36yx+36Xx>

(4x-5y)?

X>+6x+9

(5x-y)(5x+7y)

81-18x+x>

(3y+6x)?

25x2-49y?







3. Hangn owinoky:

1. (B-y)?=pB-2BY +V?
2.(7-¢)(7 +¢) =14—¢?
3. (X -10)% = x*— 20X + 16

4. (a+6)° =a* + 36 +12a

5. (B - 9)(9 +B) = §1-2 8

6. (X+VY)= X5 2XYy +Vy?
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4. BocctaHoBU cpopmyny

16 8
(A+4)2 =% + * +y?

5 25
(+ — %)% = a® — 10a + *

3b 16a® 24ab
1 (4a+*)?P= * +* + 9b?

7X 49x? 4;,2
no(* - 2y)4= * -28xy +

5p°  8q 6442
0 (* - *)2=25p4_80p2q+*







e CpaBHUTE C eAUHMLEN:

79% + 85°
(79+85)"

194 +103°
(194 -103)°




